Notes – Chemical Reactions #1

	What is a Chemical Reaction?

Why do chemical reactions occur?

What is the evidence for a chemical reaction?

[image: image1.jpg]



What is a chemical equation?

Parts of the equation.
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What are coefficients?

?What are subscripts?

Subscripts (circled)
vs. 

Coefficients (underlined)
Counting atoms!

Practice
	The chemical change that occurs when one or more substances 

are converted _______ ______ ________ _____________________________ 

with _________________________ physical and chemical properties.

Example: An iron (Fe) nail reacts with oxygen (O2) and a red solid forms on its surface known as rust (Fe2O3)
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                              +         O2    
Atoms ______________, ________________ or _______________electrons to be like noble gases. When they do that they are ____________________ with other atoms and that causes a chemical reaction.

The __________________________ _________ _______ ___________________ 

_____________________________ with chemical and physical properties that are different from those of the starting substances.


What you might see:

  Production of                                    Changes in

  *________________________                     *_______________________________

     (solid from 2 liquids)
 *_________________________                    *_______________________________ 

     (look for bubbles)

                                                                            *_____________________________________                                                                                             

The recipe of the chemical reaction showing the reactants and products.

· Reactants are the __________________________

· Products are the _______ substances ________ in the reaction

 Reactants on the left         Products on the Right

             4 Fe      +    3O2                              2Fe2O3   

________________________                                                       _____________________________

The arrow is read as   ___________________ and means ________________.  

                        *****  It points to the products*****

The whole number ______________  ____  __________________ in a chemical reaction showing the __________________ of the reactants and products.

Subscripts show quantity of each atom in a formula.
Circle the subscripts:    C2H8      #C is  _____,   #H is   ______

Subscripts:

    O2  =  O-O   the oxygen atoms are covalently bonded together 

Coefficients:

 3O2  =  O2  +  O2   +   O2   the 3 in front of O2 means there are 3O2                                       

How many total oxygen atoms in 3O2?

 3O2  =  O-O   +   O-O   +   O-O   = 6 O  (6 oxygen atoms)

Shortcut: use coefficient x subscript

3O2  =   3  x  2  =  6  O (6 oxygen atoms)

How many atoms of each element are in the following?

2MgBr2  ____________________________   

3CH4  _______________________________ 

2Ca(OH)2  _________________________




